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I.  Continued analysis of 'n n1wn’s contention that 48 is the maximum of My’pn on any given day in the vTpn
a.  Challenge: 9"y which falls on naw — to nTi "9, there are 51 (18+; to 13127 - 57
b. Answer: the Rin only listed yearly occurences, such as v"y during mvo

i
ii.

Challenge: there isn’t an "y during m2v every year — if m210 begins on vy (no o'nn n5n)
Block: if v"» would fall out on "y, we add a day to %19% and push it off
1. Reason: so that 3”0y won't fall out on '8 0y — don’t want it to follow naw
2. Challenge: 3y naw indicates that 3”11 could fall on ’x v
a. And: story with 1”1 confirms that it could fall on v"p or w”¥mn
b. Answer: that is per 1327; oIk hold that we don’t add to %98->could happen

II. Challenges to &n& "1 who reported that there is a ny’pn for each qon:
a.  ~n77x when n™ falls on naw, the psalm for n” trumps that of naw

i
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However: if RnRk "1 were right, they should recite both (with each respective qoin 127p)

Answer (X190 "): “trumps” means — goes first (but both are sung)

1. Challenge: why not employ the rule of mvn (X:> o'nar) and have naw go first?
a.  Answer (12112 73): to publicize that n" has been set in its proper time
2. Challenge: we have 12>n — the placement of the ™R (a: we have 2; 1 will be noticed)

b.  xr7712 we do not blast for each qon, per v. 1 — all DwTn *OR1 are alike

i
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Meaning: even *3wn n™), with 2 v, has only 1 set of (3x3) my'pn

Refutation: of XnR "v’s report is conclusive
1. Alternative (?wx "7): "WR1=2, referring to »wn n™, yet it is still nowN (1)

c.  Nn»ax series of DY 5w W for Mo (vv. 2-7; mnemonic is *"namin) and on nawv, v7 is trumped

i
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Proving: that there is only one 17» (2 one set of my’pn) per day of m’avin

Refutation (again): of RnR "7
1. Question: he quoted both »0a and rn»a
2. Answerl (82237): Rn»72 ()01 0N 9 HY”) means to extend blasts throughout
3. Answer2 (#7077 1237): add instruments

d. Tangential question: in 921, with 2 days of v"v, which day is skipped in mentioning m1a1p during qon?
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II. 1 mwn: total animals brought on M0 as per division into manwn (total of 24 manwn, all of whom may come for ma1o)

»an: 27d day (on days #1-2, mention nwWRIN 0, then pick up with »”& on 3 day)
~27 7% day (stay one day behind »”& until 9”17, the “rejoing” »& on nIxy »1nWY)
1. Support: ko1 that pushes v. 7 off if one of the days was naw
2. Practicum: in Xy1im they would double each day (3 day — read 2+3; 4 read 3+4 etc.)

a. Note: each day there are 14 lambs, 2 rams and 1 goat and diminishing number of bulls (13->7)
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15t day (13 bulls): 6 manwn bring 2 lambs, the other 2 bring one each
2" day (12 bulls): 5 manwn each bring 2 lambs, others bring 1 each etc.
7" day (7 bulls): all are equal

8" day: start a new lottery like the other o9

Owerall rule: anyone who brought bulls that day doesn’t bring the next day (keep going in circle)

Authorship: must be »27 (new v»a for »"nw), not 13271 (1 of 2 mMInwWN who didn’t get 09 3x gets »1nY HV 19)

Rejection: could be 1327 — even those two still need to perform a v»’a between them
Note: ®n12 which maintains that only 2 manwn didn’t get 3 chances seems to follow 721

1. Rejection: could be 13121 — they didn’t get 3 opportunities to bring ann 9

2. Teaching: per end of our mwn — if someone brought one day, they don’t bring 1nn
Tangents: Aggadic homilies on 70 ann »18 and 1 y"nw Y 19
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